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1 A 4 s [Rve udld sl 8 7
(A) Res vixlagly
(B) =& oi-|ddly]
() Ui
D)  siME%-
Which is following function of Separation disc ?
(A) To make transparent
(B) To make Mucilaginous
(C) Reproduction
(D) Cell division

2 g0l wivetalln (A1 U4l 5 (Au W el ?
(A) gl ydeql 8,
B) 3y -l
(©) g0l lesaadlq iy 8,
D) 835 &0l ydudl €y 8.
Which sentence is wrong in respect of Fungi ?
(A) Fungi are of universal occurance
(B) None of these

(C) Fungi are achlorophyllou
(D) All fungi are parasitic

3 A A4 56 A dla 8 7
(A)  Nostoc punctiforme

(B) Batrachospermum vagum

(C)  Ectocarpus conferus

(D) Ulothrix flacca

Which of the following Algae is epiphytic ?
(A) Nostoc punctiforme

(B) Batrachospermum vagum

(C)  Ectocarpus conferus
(D) Ulothrix flacca
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4 UMD s HigEMHL oA SN q3 A3y 8.
(A [asey slMEsyld »ia dedl
B) 3y ~dl
(O SMEeyfd
D) Yl

Both nucleus of ascus mother cell are attached with in
Peziza.

(A) Option Karyogamy and Somatogamy
(B) None of these

(C) EKaryogamy

(D) Somatogamy

5 R Yol sy Bog A U4 56 qudl GuR Flal wa 8 7
(A) Y% - d8l 6y
B) U4l ey
(C) a8l suy
D) 4% %
On which of following surface of Anthoceros, slime pore is located ?
(A) Dorsal — Ventral surface
(B) Lateral surface

(C) Ventral surface
(D) Dorsal surface

6 Slsaxlenul aaiay 1AL U4 3l -l YU & 7
(A) ML, el v [gueHd
(B) UL, -l @i [Zusde
(C) Ml vl w7 sgueMe

(D) iMHLH, ~ildl 2l olgdEHe

Which of following type of structure antherozoids of Equisetum
have ?

(A) Equal, small and biflagellate

(B) Unequal, small and biflagellate
(C) Equal, small and multiflagellate
(D) Unequal, small and multiflagellate
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7 WAl aliRis doed (AL T8 sl ol g gy 8 7
A s
B) ooy slus
Q) olisiydl
D) UM
Vegetative reproduction in Marsilea by means of which following
organ ?
(A) Stolon
(B) Sporocarp
(C) Rhizome
(D) Tuber

8 Al Ul 59 ellami arilfis, w0 e (ol wyeid Flal wa 8 7
(A Gaol-lun
B) As2sdy
(@ {lagidlul
D) -+l
Which of the following algae shows vegetative, asexual and sexual
reproduction ?
(A) Oedogonium
(B) Ectocarpus
(C)  Oscillatoria
(D) Nostoc

9 aselsduHl wiEel uad Hi2 AL U4l su1 oflongil wqleglz 8 7
(A)  uad Aoy
B) [zuee »yasllng,
(C)  olgieme yasflang
D) [zuede Aeoflmg
Which type of spores are responsible for asexual reproduction in
Ectocarpus ?
(A) Aflagellate zoospore
(B) Biflagellate aplanospore
(C) Multiflagellate zoospore
(D) Biflagellate zoospore

10 S-qresey v ddesey Al U4 syl qofl olal w8 & 7
Q) Elilsludl
(B)  sdlRisiudl
Q) Hluldlsudl
D) Az
In which of following class conceptacles and receptacles are found ?
(A) Pheophyceae
(B) Chlorophyceae
(C) Cyanophyceae
(D) Rhodophyceae
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(A)  [2ulfe-d 214 olislelr
B) [medly »id 2lislelR
(@) [Hauled wid ¢l »udlalo
D) [Eedly wiq ] yulan
Which of following type of rhizoids arise in Anthoceros ?
(A) Aseptate and tuberculate
(B) Septate and tuberculate

(C) Aseptate and smooth walled
(D) Septate and smooth walled

12 A0 44 3 oflon oltl 018 eudug -4l ?
4) ollong,
B)  ollmgHigsin
©) =aiwy
D) 1388
Which of following is odd one ?
(A) Spore
(B) Spore mothercell
(C) Antherozoid
(D) Egg cell

13 wi-efliAL oflongamisul Fldl Hodl slaz Fdl WHld g sday !
(A MuUAR
B) seyldsl
© Mae
(D) (Ml
What is called collar like structure in sporophyte of Anthoceros ?
(A) Apophysis
(B) Pseudo elaters
(C) Involucre
(D) Operculum

14 dlHaML syl usi-l alds & 7

@) g

(B) e&l®

(@) 4ell™

D) vl

Which kind of lichen is Hematoma ?
(A) Fruticose

(B) Petalloid

(C) Foliose

(D) Crustose
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(A)  O. concatenatum
(B) O. fragile
(©) O. aquaticum
(D) O. nodulosum
Which of following the dioecious species of Oedogonium ?
(A)  O. concalenatum
(B) O. fragile
(©)y  O. aquaticum
(D) O. nodulosum

16 [Boiofl anrufdoill od-usul (1Al U4 56 ool vyl 8 7
A)  ollamgslas
(B) 23 «d]
(C) %Y %~s
D) giudl
Which of the following phage is subsidiary in the life cycle of
Bryvophyte ?
(A) Sporocarp
(B) None of these
(C) Gametophyte
(D) Gemmae

17 (A2iofl arafainl 2else s gy 8 7
(A)  [aseq ayaii-l Mol uHY v [Eoll ugriniol Ml ¥4l
(B) 23 «d]
(O wyail-l Hule 443
(D) [Eoll we-t-iol Mulel #ud

When we can see meiosis in Pterodophyte ?

(A) Option At the time of formation of gamets and At the time
of formation of sexual reproductive organ

(B) None of these
(C) At the time of formation of gamets

(D) At the time of formation of sexual reproductive organ
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(A)  FEquisetum telmateia
(B) FEquisetum scirpoides
(C) FEquisetum arvense
(D) FEquisetum palustre

In which of following species the fertile branch gets green after
dehiscense of cone ?

(A)  FEquisetum telmaleia
(B) FEquiselum scirpoides
(C) FEquisetum arvense

(D) FEquisetum palustre

19 (A 08 syl uslz usdldlul AAuHl (Eell uaH-d-dl sl ddl3
S UIRETORE

(A) U Yl
B) [AMHZYdl
(C)  dd%=ddl
D)  SMEeyld

Which of following type sexual reproduction in Pucciniagraminis
known as ?

(A) Isogamy

(B) Oogamy

(C) Somatogamy
(D) EKaryogamy

20 +flA+ U4l sl 23Ul Aldd ASHA A © 7
(A)  [sey S1HIHY i d2AHY
(B) 23 «d]
Q) SIHIHR

D) AW
In which of following type of Lichen have Rhizine ?

(A) Option Homomerous and Heteromerous
(B) None of these
(C) Homomerous

(D) Heteromerous
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(A)  wiydlA, sl i [Fuase
(B) iHld, Hlel v [gusid
(C) ML, Ll v [gyed

(M) "ML, M2l 244 [BusHe

Which of following type of structure antherozoids of Anthoceros
have ?

(A) Unequal, small and biflagellate
(B) Unequal, large and biflagellate

(C) Equal, small and biflagellate
(D) Equal, large and biflagellate

22 &4l MUECICIC SR
(A) U SNZw
B) [sey lasel v 4 SN3=
@ +lasel
D) sinlzale
Fungi lacks

(A) True nucleus

(B) Option Chloroplast and True nucleus
(C) Chloroplast

(D) Cell wall

23 idlaisil olisyofl-l suadexdl (1AL A4 3 w153 Sy S 7
(A) ellusi
(B) Alzils1R
(C)  wU+Y[Hd 2SI
D) [HsleusiR

Which following type of shape of transverse section of Rhizome of
Polytrichum ?

(A) Round shape

(B) Square shape
(C) Irregular shape
(D) Triangular shape
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25

26

A4)
B)

©)
D)

IR 52

[tsey SNl [Heod viRLsil gladl »id SNl uog
wis] g1l

SMHL Mo 2ilRisiv] slad]

SN "d wiPslH] sladl

From the given below which is the characteristic of Plant Kingdom ?

A4)
B)

(©)
D)

Do migration

Option Non-living cell organelles present in cytoplasm and
Living cell organelles present in cytoplasm

Non-living cell organelles present in cytoplasm

Living cell organelles present in cytoplasm

{124l dlemi SNl 251 AL U4 39 Sy & 7

4)
B)
©)
D)

Aol i yglous uvll
UM L5

YLOS Sl dotlss i8]
YLOUE sl ol dy

Which following types shape of cell of algae Oscillatoria ?

A4)
B)
(©)
D)

Length and breath are equal
Irregular shape

Length is less than breath
Length is more than breath

ws2lslduul dulBd vis sUL @3 Aal 1A B 7

4)
B)
©)
D)

AN 2 d-lele

afi-dl, A-leled 2 de (gl
s5d AN

55d H-lely

In which form of reserve food materials is found in Ectocarpus ?

A4)
B)
©)
D)

Laminarin and Manitol

Laminarin, Manitol and Oil particles
Laminarin

Manitol
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(A usl-lu
(B) 23 «d]
©  Mlayy
D) Aoflost
From the given below the septa absent in myecelium of which
Fungi?
(A) Puccinia
(B) None of these
(C) Pythium
(D) Peziza

28 218Ul sladl (A Ugl 56 a-aufaml Hlal 1oL B 7
A usllul
(B) ol
©) s254y
D) G254y
In which of following plant trichogine is present ?
(A) Puccinia
(B) Peziza
(C) Ectocarpus
(D) Batrachospermum

29  dlaidsHul [Uald su1 ved a7
(A HldR 4ledsd Yy AR
(B) oHlY
(O ulRYv €d Ysiu AU AR
(D)  dldlgrel »s €Y AR
When an operculum is open in Polytrichum ?
(A) At maturity of Capsule
(B) All of these

(C) When Peristome dried
(D) When environment dry

30 1Al A4 55 adwila-l wiRHnldol Hlal Hd 8 7
A vidladsu
(B) @l
(@) dlsaxllen
D) el
Which of the following plant is seen as fossil species ?
(A) Polytrichum
(B) Lichen
(C) Equisetum
(D) Marsilea
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A Biwioll
(B idlgd oflaaidl aqwfd
Q) dla
(D) [gie(l
Which is odd one from following ?
(A) Pteridophyte
(B) Gymnosperms
(C) Algae
(D) Bryophyte

32 dlanl sinlzale Al oiAd] Sy B,
(A) @l
(B) odld5%-
(©) 558l
D) Ayl
The cell wall in algae is made up of
(A) Gelatin
(B) Glycogen
(C) Chitin
(D) Cellulose

33 1A U4 55 a-ulil wadusil sARd @-ysinl siedl Aldl
3MA 8 7
(A) G254y
(B) vldlglusy
(C) il
D) {lazdlul

From which of following life cycle the motile reproductive cells
are absent ?

(A) Batrachospermum

(B) Polytrichum

(C)  Anthoceros

(D) Oscillatoria

34 +[IAxi U4 55 adaufd WE0Es SN 4 8 7
A Al
(B) @l
Q) el
D) yesllsy
Which of the following has prokaryotic cells ?
(A) Peziza
(B) Lichen
(C) Nostoc
(D) Ulothrix
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35  sellAsl doll uedl Ay dld ofla sl AR 2laey & 7
&) dd de
B) ad dld
(©) dldl - odl 4y
D) ozl dla
Members of class chlorophyceae are commonly known as which
following name ?
(A) Green algae
(B) Red algae
(C) Blue-green algae
(D) Brown algae

36 «lRelsl dee{ui (Al 44 s e 9 8 7
(A) o [QHIn
(B) is ysl A€l
(© A A dg ylaw 21198 93 2aRd €y 8,
D) &35 dgrl srd st y{ldy-l videl elod] Flal 1 8.

With reference to Nostoc which one of the following statements is
correct ?

(A) Both of these
(B) None of these

(C) The trichomes are generally not surrounded by mucilaginous
sheath.

(D) An individual mucilaginous sheath is present around each
trichome.

37 Uoflooiul @&l uyeivt iy ddd ad 8 7
A sl fylellangall
B S-ldul 2 Sl aelagui-dl o8
(©)  sildul
(D) oflongai-l
In Peziza the asexual reproductive organ behave as
(A) Conidiosporangium
(B) Both Conidia and Conidiosporangium
(C) Conidia
(D) Sporangium
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13- U4l 56 a-auli-l wa-Asl sa- ol Ssndl @-L Rsl WA 8 7
(A)  olgsiiHy

B) 56 1 Al

() yeidlsy

D) wisalsidy

In which of following types the structure of cystocarp developed
after fertilization ?

(A) Batrachospermum
(B) None of these

(C) Ulothrix

(D) Ectocarpus

w4l 1AL G4 2T ayui-dl-l sul SN saq ulal [Hufed yy 8 7
(A »izai-lseisiy v laigeisiy

B) 56 1 Al

Q) isi-lgeisy

D) dldisaisiy

Which cells of archegonia disintegrating before fertilization in
Anthoceros ?

(A) Neck canal cells and ventral canal cells

(B) None of these
(Cy Ventral canal cells
(D) Neck canal cells

leflynul (A1 A4 541 usled NGl Aldl 1A © 7

(A) Hs™g+

(B) Hdiusdl

() 2aladef]

M) “AMd]

Which following type of mode of nutrition shown in Pythium ?
(A) Symbiotic

(B) Saprophytic

(C) Autotrophic

(D) Parasitic
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(A [Eoll 2ary)
B) 56 1 Al
(C)  %Y%~is R
(D) ol xs vl

In which generation in bryophytic plant the spores represent the
first cell ?

(A) Sexual generation

(B) None of these

(C) Gametophytic generation
(D) Sporophytic generation

42 dlsaxflensl oflmg Goules 1ol Ul Y wiioey & 7
(A didl g
(B) o4l %
Q) ofloglslas
D) g
What is the name of spore producing organ in Equisetum ?
(A) Sori
(B) All of these
(C) Sporocarp
(D) Cone

43 &5 qeiu[aHl ol Mg s viary| 28] 2 dyeiel A-yoels mare] GU piadd
87
Q) Ay
(B)  sl6 19l ]
(©) Y
(D) &y
In which plant sporophytic phase short and completely depended
on gametophyte ?
(A) Anthoceros
(B) None of these
(C) Marsilea
(D) Nephrolepis
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(A [80(l Yareid oYl
(B) [asey diaulds sasoosl -l 2 [Eofl wa-- vidael
(O dlulis sasaal W-L

D) i[E3(] Ui viqa)

Which character is used as main character for the classification of
the fungi ?

(A)  Sexual reproductive stage

(B) Option Structure of vegetative mycelium and Sexual
reproductive stage

(C) Structure of vegetative mycelium
(D) Asexual reproductive stage

45 a3l s0UG seq ¢ s3qly !
(A wiA{luy
B) [sey U0AAuY 21 1LY
(©)  alum

D) sA218UH

What is called the fruiting body of Lichen ?
(A) Apothecium

(B) Option Perithecium and Apothecium
(C) Perithecium

(D) Cleistothecium

46 A U4l e+l 568 wuiell il WH iy 8 7
A sadi-lul
B) [Heull
(©) A
D) Adal
From which of following species the Orsin is obtained ?
(A) Caladonia
(B) Cetraria
(C) Archilino
(D) Rosela
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WYL (1AL D8] 51l wsiell wel Flal 1 & 7

(A)  usloflangul

(B)  dHlH UslRel

(@) ayolonguel

(D) dysduel

Following what kind of leaf is found in Marsellia ?
(A) Megaphyllus

(B) All types

(C) Microphyllous

(D) Compound leaf

wiiflA2 U] 8 AlaHl UM el WL Flal 4h 8 7
(A)  O. tenuis

(B) 3 «dl

(C)y O. angusta

(D) O. Formosa

In which species of Oscillatoria we can see the structure of calyptra
on apical side ?

(A)  O. tenuis

(B) None of these

(C)y O. angusta

(D) O. formosa

ALSLY sUl Uslell AS3ul aoflsd w8 7

() glua

(B) dell™

(© wdais

D) sel™

Graphis is classify in which type of lichen ?
(A) Fruticose

(B) Foliose

(C) Crustose

(D) Petaloid

oy i wia4ie] 21e0 e vl B4R Goua 41y d- ERCIUR
(A [usey yysuolongls e w{yoflags

(B) 23 «d]

Q) yusiellmgs

D) wllysllones

Antheridia and archegonia grown on different branches which is
known as i

(A) Option Idicandrosporous and Gynoandrosporous

(B) None of these

(C) Idioandrosporous
(D) Gynoandrosporous
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